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1. 39eATd ATarT g YRET $ApMI 3cdl 9T Porear et & eardr.

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

2. 9Rel g% groaydl fearedisr carear 9ol Argdrdr @ aoaErdr 30 A it 9o dvard
A,

You will get additional 30 minutes to check and make sure about the information about yourself on
the Answer Sheet before the start of the exam.

3. TeX WRAYREARAEY THUT 100 TR& I Ycdsh YRATHIS 2 I[0T 3Ted.

This question booklet contains 100 questions each question carries 2 marks.
4. |4 9% GSTAUT TS Mg, FHTAT SccRTagel HSTledT UM HSCATE! FhR I[OT T Shel

SAMUIR TSN
All questions are compulsory. There is no negative marking.
5. 3MUcAT FEITE TRAYREART [ATeard! Tl Seal el
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6. TIITHEY Hhdd Tehd el RIS Mg, SRS 3caidrdr Tehd Tay fAgsrar.

There is only one correct answer. Choose only one option for an answer.
7. 3cdrdT YA W[IAUATHATS! hddd Il ficsr IEET dictdeTd aTaRar.

To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black Ball,

Pen only. Eg.
Qx: Zill ﬁ‘ the blanks Visit www.rtsexam.com for Answer key after 8 days

My father went.........cccecvvveeiuvrnnee To buy some milk.
a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding Q. x . @ @

To option a) in the Answer Sheet

8. URET HUCAER JHH SccRUTIehl THAETHIhS TRl .
Return the Answer Sheet to the invigilator at the end of the exam.

9. 3Year URET HATh TeAYRAHa Fear fAgrar a Hex yRAYREdenr aRat Hleraticder 3aedr diad =rd.
Write your Roll No. on the Question Paper too and take it home for future reference.




Qrellel 3Tl rear=m 31 YA AT foasT.

AT 9
A) ATFAIITT STelell B) URTShHT Hlsd
C) #He g D) e Iefe FHeys

YIS T eIl FATATAT Ase HIOTAT?
A) dR B) ST C) FuroT D) s

IS T Aserel FATATST SIS Wreflerdehr se HI0TCAT?
A) FGHA B) IelTe C) gH= D) B

"lellel AseTcliel 3TR[E A HIUTAT?
A) eRCTE B) hrcaefer c) MR D) 3mefdiE

GTellel JFYARTET I 371 fAger.

FUTSHIET BIUT -
A) SUTSEI STEH gIor B) #HXUT UTgor
C) Ut} #HeT fafgor D) 31faer sTegare 3oy

Grololdehl SNgelsc sTHUIRT sg hIoTdT?
A) TiTaTd B) fearaedt C) MsHIS D) §@cHhh

Grollel aTreFadT YT hIoTdT?
AdFTTd 3TIeIT AT SARIAT GIof hell.

A) THAB BT B) HII C) AT D) 37h&H® el
Fill in the blank with suitable collective noun

| sent a of fruits for my sister.

A) bucket B) basket C) drum D) none of these

Choose the correct alternative to make the sentence meaningful
The task they performed was very
A) danger B) dangerous C) dangerously D) dangerly

Fill in the blank with most suitable preposition.
My birthday is November
A)on B) in C) across D) into




11.

12.

13.

14.

15.

16.

17.

18.

19.

Mark the antonym of the following word:
Former
A) Latter B) Departed C) Antecedent D) Earlier

Choose the correct alternative of phrase :
The deer disappeared in the forest
A)in a hurry B) in a flash

C)inalight D) in a water

Change the following sentence into passive voice:
Who is plyaing football?

A) Football is played by whom?

B) By whom is football played?

C) By whom is football being played?

D) By whom is football been played?

Complete the following proverb:
First deserve then
A) snatch B) rob C) desire D) give

Choose the correct alternative of helping verb to complete the sentence
They attend the programme.
A) doed not B) were not C) did not D) are not

gedIadlel qrofl HTAT HTEAd ITGdd?

A) T B) ad C) ag D) alier @a
In which one of the following states water is present on earth?
A) Solid B) Liquid C) Gas D) All of these

GreiTeTdehl HIOTeAT TGl SHTgdTell Fgeel Sd?

A) arg B) gcdl C) 3r&ad D) farems

Which one of the following animals is called scavenger?

A) Tiger B) Elephant C) Bear D) Vulture
QgIAGAT ISRMATA TR d2aT goarg FEUTAT.
A) ol B) 35T C) TolaleT D) YT AT
Fusion of male sex cell with female sex cell is called

A) Fertilization B) ovulation C) pollination D) none of these
ST A9HATATER gard ard 3aEATeR] 8l cd1d T gerdran FEUTAIA.
A) IS B) 3caholellch C) gdulls D) ITdhr ATETr
The temperature of which liquid start to convert into gas is known as:

A) Freezing Point B) Boiling Point C) Contraction D) none of these




20.

21.

22.

23.

24,

25.

qIUATET 3cehelelish fohdl 31Tdl?

A) 0°FH B) 10° & C)37°% D) 100° .
At what temperature water starts to boil?
A) 0°c B) 10° c C)37%c D) 100° ¢

fegdeslt it gdeaeier BIUATATST AT HUTeAT UTefel el TRl ?
A) gaot B) dIGr C) o D) egAfas
To make electroscope sensitive leaves made up of which metal are attached to the end of the rod

inside the flask.
A) Gold B) Silver C) Copper D) Aluminium

fAHa SotreTsaTd TohmRIT JUFehivT HeHD &lcl?

A) TIMHD B) Ao C) elelhrS D) 9Tl daTHd
In a rainbow splitting of light occurs by
A) Clouds B) lightning C) Water vapour D) raindrops

Grolteldehr T gl &Nor3raa?

A) T B) Tfifas faegd
C) IfAH D) ©YoT

Which force is very weak?

A) Gravitational B) Static electric

C) Mechanical D) frictional

QIR FgUTS I ?

A) U8 FHE&eA dATIgor

B) 80°F T dIUqe US Ol

C) US kel AT TRIOTAT ART 0T

D) ATIgsT AT fRoT=T ART &0

What is pasteurization?

A) The process of cooling and then heating

B) The process of heating up to 80°c and then cooling quickly.

C) The process of cooling and then exposing to gamma radiations.
D) The process of heating and then exposing to gamma radiatios.

PIUTAT TahiE olglel ITASATd TIATHTST HGd Pl ATel?

A) TSIH B) 3=RH C) Meaww D) ¥dTgTH
Which juice does not helps in the digestion process in intestine?
A) Gastric Juice B) Intestinal Juice C) Bile Juice D) Pancreatic Juice




26.

27.

28.

29.

30.

31.

IS gHed HRUNSA 3HUIRT dRY HI0TAT?

A) T SAITFASS B) oW SIIFHISS

C) ARICIS SITATFASS D) U IFEEIIC
Which gas was responsible for the Bhopal gas tragedy?

A) Carbon dioxide B) Sulphar dioxide

C) Nitrogen dioxide D) Methyl Isocyanate

HTEY : Ci2 Hp2 O11 :: As 2

A) NaxCl B) NaCl C) NacCl, D) NaOH
Sugar : Ci2 Ha2 O11 :: Common Salt : ?
A) NaCl B) NacCl C) NacCl, D) NaOH

g7 T W Edid Adsar Jrar.

INRCETS B) I9RH C) 9Ty D) &
Which of the following body secretion is directly poured into the blood circulation?
A) Enzymes B) Hormones C) Digestive Juices D) Saliva

GTolleldeh! HIUTAT 319Id RRTT TEFAT gTeldTed gsdar?

A) A B) PFHH C) HATS D) g&d
Which one of the following organs produces movement is the blood?
A) Brain B) Lung C) Kidney D) Heart

Grellel e=ATeT qfgedr yerar ga-ar Jerll STar §a 318, Jar daer faa-ar geren e
yerelt 31g, & 8T 893 U earedr el AU Ical QATE.

In the following questions the relation between the first term & the second is the same as it is
between the third and the fourth term taking this into consideration which alternative will come in
place of the question mark.

><:><::© ?

A) B) C) D)

100:64::225:7
A) 144 B) 169 C) 154 D) 196
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33.

34.

35.
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37.

38.

CEGI : WUSQ :: ? : USQO
A) DIGK B) KIGD C) DGIK D) FHIL

GTollel e grodTdrel gfafae shora?

Select the correct water imgae of the given word.

ACOUSTIC
VIO0N2LIC VCONSLIC vCON2LIC VCONZTIC
A) B) C) D)

GToltel ITeTdrel fadera s 3Nodr.

A) HTERT B) oISeT C) IRT D) =gATeh
Choose the word which is not like the other words in the group.

A) Moscow B) London C) Paris D) New York
CEICI AT CER

A) giet B) dTGr C) FIH D) olig

Find the odd man out

A) Gold B) Silver C) Bronze D) Iron

GrelleldehT ISUTCT aTgeh HIUTAT?

A) W B) qrufr C) s D) e
Which one of the following is a good conductor of heat?
A) Wool B) Water C)Wood D) Silver

Tl 9ATT RATIgIedT SIEI SIoTdT TEAT A5,

Which number will replace the question mark in the following question.

4
-
3 ?
91 39
52
A) 24 B) 72 C) 48 D) 13
BCE, CEH , EHM, ?
A) 0QS B) MNO C) NOP D) HMU




39.  @rellel JHTehcirar el qoT SUIHAIST A9y 9aiy foasT.

TR 3Tl 3caX JHTheT
2R 4
= K

A) B) ) D)

In the following question, find out which of the option completes the figure matrix.
Question Figure Answer Figure

-— ‘ .

)

w4

-
A) B) C) D)

40. HeS, oo T AGRISE ITAT 91C WIoTdehl HIUTeT def 3MTehcilel GeiaTel.

Which of the following diagrams represent the relationship among Mumbai, Delhi, and

Maharashtra?
A) B) C) D)

41.  Grele YT feeledn ereerar 7490l e .

1. IR 2. SehEEaT 3. 7,

4. SASTIRY 5. 3T HFARAT

A)2,3,4,5, 1 B)3,4,2,5,1

C)4,1,2,5,3 D)2,4,1,5,3

In the following question, arrange the given words in a meaningful sequence.
1. Poverty 2. Population 3. Death

4. Unemployment 5. Lack of food

A)2,3,4,51 B)3,4,2,51

0)4,1,2,5,3 D)2,4,1,5,3




42.

43,

44,

45.

46.

Grellel 3Tehcilciter Tehom=l wepor e fanci?

Count the number of triangles in the given figure.

A) 13 B) 16 C) 19 D) 15
GrelTel AEATATeIATST IRATdegIedl SIET SIoTdT TEAT A5,
312,424,536, ?, 760

A) 642 B) 748 C) 656 D) 648

Which number will replace the question mark in the number series given below?
312,424,536,7, 760
A) 642 B) 748 C) 656 D) 648

Grollel YeATciel 3Mehcildl FeATeeredr Sef S Asel o S
In the following question figure which will replace the question mark?

9
5 7
3 8 4
5
5 4
A) 40 B) 120 C) 72 D) 80

Trellel IREAT feeledl eererd SHUY 9g foiast.

A, R, o, it

A) s B) SfsT C) aAtegs’ D) A
Find the matching term to the word group given below.

March, December, July, August
A) September B) June C) November D) May

TUehT Hlchideh HATYT BOTTLE & AsE YLGGOV 37T ToIgdrid d¥ MOPED &T 2Tee &»aT foIgld.

A) MNKUM B) MLLVX C) NMKUX D) NLKVW
If BOTTLE is coded as YLGGOV, then how will MOPED be coded as?
A) MNKUM B) MLLVX C) NMKUX D) NLKVW




47.

48.

49.

50.

51.

52.

ST o FHUMY el foiasr.

Choose the figure from the options which is different from others.

@ © © ©

A) B) C) D)
gﬂmﬁ?ﬁﬁ g'a‘rqmgrr Ul ShATHIEAT TG HIUTAT?

A) I4TE B) % C) AAUge D) Tl
Which one of the following is the fifth planet from the sun?

A) Uranus B) Jupiter C) Neptune D) Pluto
FITEUM fohell YR 3TEl?

A1l B) 2 C)3 D)4
How many types of Solar Eclipse?

A) 1 B) 2 C)3 D) 4

1056 ALY fohcdt Aodearay Aumar FEIT 237 AW H1IT S
A) 21 B) 25 C) 13 D) 2

What number must be added to 1056 to get a number exactly divisible by 23 .
A) 21 B) 25 C) 13 D) 2

fheT e

Find the value of

(0.87)3+(0.13)3
(0.87)2+(0.13)2-0.87 x0.13

A)0.13 B) 0.74 C) 10.87 D)1

TRl GHIAGRTA EleT T Tcdehl 1560 FATITAT fdhedT. AT dail TSl UhT dEJaR 20%
BT ST, SEAT TEJAX 30% ABT ST, TR AT T WCT FUITHISN GhIACRTAT fheld
A) 3120 39 B) 2340 39 C) 2500 9 D) 1950 TYJ

A shopkeeper sold two articles each for Rs.1560. He secured 20% profit on first and 30% profit on

other. What was the total cost price of both the articles?
A) Rs 3120 B) Rs 2340 C) Rs 2500 D) Rs 1950




53.

54,

55.

56.

57.

58.

(2a +3b) (a-b) =7

A) 2a% + ab — 3b? B) 2a% - ab +3b?
C) 2a? + ab + 3b? D) 2a?—ab -3b?

3FA 29 feaard A 2610%. Aad, AR T 19 feqarh Ay fhdr Aer?

A) 90%. B) 171 3. C) 261% D) 1710%.
Aman’s wages for 29 days are Rs 2610. Find his wages for 19 days?
A) Rs 90 B) Rs 171 C) Rs 261 D) Rs 1710.

T glgrar el 4 fAeT, &7 1.5 AT g 3301 1 AT 39T o Jroa &eldrs $eleln

3e. 8 forex ATU=AT Sl ar R&maAT Fearg Fdr dicear qroft Feer?

A) 75 B) 750 C) 300 D) 600

The water tank with length 4 M, breath 1.5 M and height 1 M is completely filled with water. If it is
to be emptied using a bucket of capacity 8 liters find how many times bucket should be used to
empty the tank completely

A) 75 B) 750 C) 300 D) 600

a1t rev
114 38 76
147 *49 105

228 7 227
A) == B) 28 O D) JTHT e
Find the LCM of:

114 38 76

147 49 ' 105

A) 228 B) 7 Q) 227 D) none of these
7 228 14

areft 60 fohall Jamer GTGUIRY Yed THEE 30 Ahald IR dXd X Ledd! offel fohal fHAex

3r8d?

A) 1000 B) 900 C) 750 D) 500

With a speed of 60 Km/hr a train crosses a pole in 30 Sec. the length of the train in meteris .........
A) 1000 B) 900 C) 750 D) 500

HSATBId 9 dlolel 10 TAfAC STl 3/ e areerer a fAfesher Aredrelel v A facdr

378

A) 1400 B) 150° C) 145° D) 160°

If the clock shows the time 9 hours and 10 minutes, what is the measure of the angle made by the
hour hand and the minute hand?

A) 1400 B) 150° C) 145° D) 160°




59.

60.

61.

62.

63.

ARAT g7 faedr elel HelredT aaredT sYelat 8 a¥ ¥ Mg AT &l Helredl aardid
W 39 3Tg. ARAT a7 45 ¥ 3@, A foear Agar Herd a7 R a¥ 31der?
A) 22 aY B) 21a¥ C) 20aY D)17 a¥

Sarita’s age is 8 years more than the sun of the ages of her two children. The difference between
the ages of two children is 3 years if sarita’s present age is 45 years what is the age of her elder
child.

A) 22 years B) 21 years C) 20 years D) 17 years

Teh! HIUTE 12347 TYATAT Ueh TheX TRET hel. 17 % DT [ASATIATE el FheX
IEGIREEICIRCEICICICIC N
A) 14446 T9Y B) 14445 %9y C) 14447 &9 D) 14454 39

A person buys a scooter for Rs. 12347, for how much should be sell to get a gain 17%?
A) Rs 14446 B) Rs 14445 C) Rs 14447 D) Rs 14454

Grellel 3MTehdlcd M < CAD = fahelt ?

In the following figure, find the measure of angle CAD

A

A) 60° B) 70° C) 80° D) 40°

4 .

7 G YOI fo¥e.

A)0.36 B) 0.36 C) 0.36 D) - 0.36

The decimal ofi is:
11

A)0.36 B) 0.36 C) 0.36 D) - 0.36

IR HEIT AT 3. 3HcUS 2, 54 3. HEIAUSID Teh Te ga-am Jeredr faoae

R, IR ALIHIS, HIUTAT?

A) 4,12 B) 12, 36 C) 6,18 D)9, 27

The numbers are in proportion. Their extreme terms are 2 & 54. one of the middle terms is thrice
the other one. Find the middle terms.

A) 4,12 B) 12, 36 C) 6,18 D)9, 27

10

——
| —



64.

65.

66.

67.

68.

69.

70.

WrolToTieh! Halld ofgTel 37qUlTeh hIUTcT?

21 13 17
AT B) - C) D) =
Which of the following fractions is the smallest?

21 13 17
A) 5 B) 3 Q) i D) =

S x= 102 3707 y = 2 318l d¥ x2—2 xy + y2 = Th1?

A) 10,000 B) 1000 C) 100 D) 10100
If x=102 andy =2, find x?>—2 xy +y?

A) 10,000 B) 1000 C) 100 D) 10100
gauT AR IS 3M8?

A) 3T B) 37HcER C) =g feoeh D) HS
Golden temple is situated in

A) Agra B) Amritsar C) New Delhi D) Mumbai

CICICEED] T&gddccdlwl HaTd STIBAT & HIUTAT?

A) PeTels B) 3iTecforar C) Hreler D) A
Which of the following countries is closest to equator?
A) Greenland B) Australia C) Sri Lanka D) China

HRAT HeJodes fashrd &A1 10T 3Med?

A) 2RG YR B) FXelH=gL Har
C) FHcr ot D) TR T3]

Who is the human resource development minister of India?

A) Sharad Pawar B) Mulrimanohar Singh
C) Smruti Irani D) Suresh Prabhu

HRATAIT &TPhAT TS Faid AlS T HIUTa?

A) ISTEATT B) 3¢ WoRT
C) FLIUCA D) HGRISC
is the biggest state in India according to area.
A) Rajasthan B) Uttar Pradesh
C) Madhya Pradesh D) Maharashtra

IYTSATATS ARTMSAHIR EROT FHIVICAT AGIGR Siefelel 3778 ?

A) FSUT B) FTaxT C) IMGrasr D) HgTACT
Nagarjunasagar Dam in Andhra Pradesh is built across which river?
A) Krishna B) Kaveri C) Godavari D) Mahanadi

11

——
| —
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72.

73.

74.

75.

76.

77.

78.

TSITATAT HSEITAT FIAFRIS fhdl 31TAr?

A) 3 T B) 4 a% C)5 a¥ D)6 I
What is the term of a member of Rajya Sabha?
A) 3 years B) 4 years C) 5 years D) 6 years

‘ Seohelld fSiCmEE ' § EVaaT TAVUH HIUTAT iRl aralol?

A) HITAHT B) STl glcaTel

C) TGATR TG D) g@ed

“ Inquilab Zindabad ’ Slogan was First used by which revolutionary?
A) Bhagatsingh B) Lala Hardayal

C) Chandrshekhar Azad D) Sukhdev

TTrTTUhT HIVT AT ARA ST [9d v TSdhel AGI?

A) drelr B) &lehr C) fohepe D) Fearel
In which of the following sports India has never won the world championship?
A) Polo B) Hocky C) Cricket D) Football

3T Eys 7Y Ueeh fABAumY ufgelr IR Afger aor?

A) dr.ér3wr B) T 3rsgH

C) HOTHA Heoralr D) o= &t

Who is the first Indian woman to win Olympic medal?

A) P.T. Usha B) Shiny Abraham

C) Karnam Malleshwari D) Kunjarani Devi

HRATT JSTETeAT SHIOTAT?

A) feoelr B) deels C) HeS D) T@dg
Which is the capital of India?

A) Delhi B) Chennai C) Mumbai D) Parliament

qIERT & IMAT g7 ol 3gear gfigear ARG FET Fiorear Sl Qgaer?

A) Jnar B) hifaeT C) Fifelpd D) el
In his first Voyage to India, at which place Vasco da Gama land?
A) Goa B) Cochin C) Calicut D) Mumbai

Y JNaH JErar SH ST,

A) o=l B) aereir C) dreelg D) ehitieTate]
Gautam Buddha was born at?

A) Lumbini B) Vaishali C) Pataliputra D) Kapilvatsu
fAaTslT AGRISAT TaT A3 Tl &l JY TT FHT g
A) ST B) T C) Tl D) dedllk

( 1
(L 2 )



79.

80.

81.

82.

83.

84.

85.

Vyankoji, the half brother of Shivaji Maharaj was the rular of
A) Banalore B) Mysore C) Thanjavur D) Vellore

FHEATHT HiofT TAfgalr?

A) 3T BTl B) thafl C) ST} D) 3fsgel WA
Who wrote Akabarnama?
A) Abul Fazal B) Faizi C) Babar D) Abdul Rahim

CEIEEAT ORI ST 3MTUTOTRT HITeT HHIC HI0TCT?

A) RS B) STeR C) e D) STeiiR
The Mughal imperor who prohibited the use of tabacco was?

A) Aurangzeb B) Babar C) Akbar D) Jahangir
frars AERTST=AT =T TS HECaT TR holl.
A) T B) JaTS C) TR NREEGH
Shivaji maharaj defeated the Mughals in the battle of?

A) Purandar B) Raigarh C) Salhar D) Shivner

DAY HHTST HGRISTeA AGIedT FLHWOT §T HEhd TY HRATER 37787

A) &3 B) WHIT &RUT () FHANGS gl D) TSATeAdr
Chhatrapati Sambhaji Maharaj wrote ‘Budhbhushan’ in Sanskrit on

A) Religion B) Foreign Policy C) Social Reforms D) Polity

HeGRUATeAT AU SEReaT FRARTET T AT BTl 37Telr?
A) JHIST Blcsa B) Scdrel g

C) IeeTETS R D) Fgga e

After the death of Malharao assumed the reins of aministration of Indore.
A) Tukoji Holkar B) Dattaji Shinde

C) Ahilyabai Holkar D) Mahadji Shinde

Al Tsdadrd GHE e HIUTd gla?

A) ag B) 3Tesar C) T DRIEIE]

Which was the centre of the Varkari movement?

A) Dehu B) Alandi C) Pandharpur D) Pachad

el RN azelleten g % Miderder I =A1d Flcel

A) BIATT B) freir C) ATor D) 3TTcer

Banda Bairagi issued in the name of Guru Nanak and Guru Govind Singh
A) Farmans B) Punishment C) Coins D) Orders

13
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86.

87.

88.

89.

90.

91.

8T HEel Headl TEATIH BIcAT?

A) TG B) glerd@re C) SR D) R
was the founder of the Mughal power?

A) Humayun B) Daultkhan C) Babar D) Sherkhan

HRATT Hcdd drey qTdediay shelel 31T8.

A) &l B) ciie C) IR D) 3

The Government operates at levels in India

A) Two B) Three C) Four D) Many

HeRTeg TafHser fgared faRs Hid gld?

A) Heg B) 3iRameTe C) AT NIGURED
The winter session of the Maharashtra state legislature takes place at
A) Mumbai B) Aurangabad C) Nagpur D) Nashik

T FAHS R I, § AR N@er e,

A) AT 3o dreidedrs] B) STeTciedT HgehdHas
C) TAUR gEHS D) H-TTHD

Maharaj knew that a kingdom does not prosper without
A) Increasing Productivity of Agriculture  B) Help of people

C) Increase in trade D) Military

SISl FaTaeh eferar 9aaxieT HIuTdr?

A) T B) 3TetH ) 3ifsar D) TRATT
Which of the following is the lognest mountain range in the world?

A) Rocky B) Alps C) Andes D) Himalaya
R ST 3.

A) 3TCITERT - Tiadl 31Eder

B) Soid s - HAHARY

C) IANEA U - TSET 3Tl

D) HeT ShIfcEEehl - STAllciTeT sehell HET ey
Identify the incorrect pair:

A) Alaska — White Bear

B) Georges Bank — Fishing

C) Yellowtone park — National Park
D) San Francisco — Main Office of the world Bank

14
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92.

93.

94.

95.

96.

97.

98.

siTsfierdl ISTETeAT HITAT?

A) R3T & SRy B) stsirferar
C) I3 IFall D) HeAlH
Which city is the capital of Brazil?

A) Rio de Janeiro B) Brasilia

C) Sao Paulo D) Manaus

HRRT JaTgredT TR 997 fohdl fohddl 3radr?

A) 210 B) 40 oI 50 C) 70X 90
What is the approximate speed of ocean currents?
A) 2to 10 B) 40 to 50 C)70to 90

I 0T § IV 3aIdArd H1H Hg?

A) Hg, B) 3l C) 9T Ul
Thinking is the function of which organ?
A) Brain B) Eyes C) Backbone

el FaTd HHAT JGUUT FIOMR YT FHIUTT?

N B) fester R LIEIG
Which of the following fuels will cause minimum pollution?
A) Petrol B) Diesel C) Gasoline

SRETae AedEdT eeT Hurdar?

A) 11 T B)11H C) 11 Sfef
When is ‘World Population Day’?
A) 11 April B) 11 May C) 11 July

HARATS AT FIUT HRA?

A) 3TRUT Seell B) Tl g0fr
C) AAAGT T D) Iroterry fHer
Who is the finance minister of India?

A) Arun Jetley B) Smruti Irani
C) Manmohan Singh D) Rajnath Singh

$he IYh HIUTAT Wordll Fafad 31me?

A) Pedre G C) giehr
Fed Trophy is associated with which Sport?
A) Football B) Tennis C) Hockey
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D) 100 o 150

D) 100 to 150

D) gad

D) Heart

D) &Y T ST

D) CNG

D) 11 Sfef

D) 11 June

D) fohehe

D) Cricket

——
| —



99.

100.

12 STHGRY T HIOMN =T 37Ea?
A) AT IS
C) TSTATAT a3

12t January is the Birth anniversary of

B) IMSITSTET
D) QT8I et

A) Krantijyoti Savitribai
C) Rajmata Jijau

B) Gadhge Baba
D) Shahaji Raje

GrelleTeh! 0T AT Jehcl FIAZIST il ol Heell?

A) AR B) RIeT

c)&faor ;AT D) IcaT HRAT

Which one of the following countries tested Hydrogen bomb recently?

A) America B) China

——

C) South Korea D) North korea

16

—



